XSW VA
SR B 00" HANSAVFLEX

L}
BO1+2 KSR B
ERER1+2 24°M%

gaxa PR P
TR #BE0° 1)
L2 -3 DIN 3911
Heum BE(THHRRINYEF)
L THR
#®5
BXZE, EA. EXRERNAFN TEREN RSB EESHERDEROHEARES.
&

EMR5 THEED

=)

XSWNWO04HLVA L PN 315 6 M12x15 17 16 34 27,0 19 12,0 14 12 17
XSWNWOBHLVA L PN 315 8 M14x15 19 16 34 27,0 21 14,0 17 12 19
XSWNWOBHLVA L PN 315 10 M16x1.5 22 16 35 28,0 22 15,0 18 14 22
XSWNWH10HLVA L PN 315 12 M18x1.5 24 16 36 29,0 24 17,0 20 17 24
XSWNWH13HLVA L PN 315 15 M22x1.5 27 16 38 31,0 28 21,0 25 19 30
XSWNWH16 HLVA L PN 315 18 M26x1.5 32 16 40 32,5 31 23,5 24 24 36
XSWNW20HLVA L PN 160 22 M30x2 36 16 42 34,5 35 27,5 30 27 41
XSWNW25HLVA L PN 160 28 M 36 x2 42 16 43 35,5 38 30,5 34 36 46
XSWNW32HLVA L PN 160 35 M45x2 50 16 47 36,5 45 34,5 39 41 55
XSWNWA40HLVA L PN 160 42 M52 x2 60 16 47 36,0 51 40,0 43 50 65
XSWNWO3HSVA S PN 630 6 M14x15 19 16 36 29,0 23 16,0 17 12 19
XSWNWO04HSVA S PN 630 8 M16x1.5 22 16 36 29,0 24 17,0 18 14 22
XSWNWO6HSVA S PN 630 10 M18x1.5 24 16 16 29,5 25 17,5 20 17 24
XSWNWO8BHSVA S PN 630 12 M20x1.5 27 16 38 30,5 29 21,5 21 17 27
XSWNW10HSVA S PN 630 14 M22x15 27 16 40 32,0 30 22,0 23 19 30
XSWNW13HSVA S PN 400 16 M24x15 30 16 40 31,5 33 24,5 24 24 32
XSWNW16HSVA S PN 400 20 M30x2 36 16 44 33,5 37 26,5 30 27 41
XSWNW20HSVA S PN 400 25 M 36 x2 42 16 47 35,0 42 30,0 34 36 46
XSWNW25HSVA S PN 400 30 M42x2 50 16 51 37,5 49 35,5 39 41 50
XSWNW32HSVA S PN 315 38 M52 x2 60 16 53 37,0 57 41,0 43 50 65
GHRGILL=FER L=B S=E - PN=#IEESN PB=HAIHEN - gd2=EAER

FRAEE
XSW HSEBRIERE AEN0°, W
SWVA REERIERE AEWN, THN

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
14.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



